

ON ABSTRACT VOLTERRA EQUATIONS WITH KERNELS HAVING A POSITIVE RESOLVENT

BY
PH. CLÉMENT^{*}

ABSTRACT

We consider the nonlinear abstract Volterra equation of convolution type:

$$(V) \quad u(t) + b * Au(t) = u_0 + b * g(t), \quad t \geq 0,$$

where A is m -accretive in a Banach space X , b is a given real kernel, u_0 and g are given. Boundedness and asymptotic properties of the solutions are established under the assumption that the kernel satisfies certain natural positivity conditions.

1. Introduction

Let X be a real Banach space with norm $\|\cdot\|$. Let A be a m -accretive operator in X , [3], i.e. for every $\lambda > 0$, $J_\lambda := (I + \lambda A)^{-1}$ is a nonexpansive map which is everywhere defined on X . We consider the following Volterra equation of convolution type:

$$(1.1) \quad u(t) + b * Au(t) \ni f(t), \quad t \geq 0$$

where b is a given real kernel, f is a given function with values in X and $b * Au(t) = \int_0^t b(t-s)Au(s)ds$. Since for every $\lambda > 0$, the Yosida approximation of A , $A_\lambda := \lambda^{-1}(I - J_\lambda)$ is Lipschitz continuous, the equation

$$(1.1)_\lambda \quad u(t) + b * A_\lambda u(t) = f(t), \quad t \geq 0$$

possesses a unique solution $u_\lambda \in C([0, T]; X)$ if $b \in L^1[0, T]$ and $f \in C([0, T]; X)$, $T > 0$. In [4], Crandall and Nohel have proved that if the assumption

^{*} Research partially supported by Technische Hogeschool, Delft, The Netherlands, and the United States Army under Contract No. DAAG29-75-C-0024.

Received September 10, 1978 and in revised form August 1, 1979

$$(H1) \quad \begin{cases} b \in W^{1,1}[0, T], \quad b(0) > 0, \quad \dot{b} \in BV[0, T] \\ f \in W^{1,1}[0, T; X], \quad f(0) \in \overline{D(A)} \end{cases}$$

is satisfied, then there exists $u \in C([0, T]; X)$ such that $\lim_{\lambda \downarrow 0} u_\lambda = u$ in $C([0, T]; X)$; u is called the *generalized solution* of (1.1). Note that if (H1) is satisfied, then there exists a unique $u_0 \in \overline{D(A)}$ and a unique $g \in L^1(0, T; X)$ such that

$$(1.2) \quad f(t) = u_0 + b * g(t), \quad 0 \leq t \leq T.$$

Indeed $u_0 = f(0)$ and g is the unique solution of the equation

$$b(0)g(t) + \dot{b} * g(t) = \dot{f}(t), \quad 0 \leq t \leq T$$

(where $\dot{\cdot} = d/dt$). Conversely, if $b \in W^{1,1}[0, T]$, $b(0) > 0$, $\dot{b} \in BV[0, T]$ and $u_0 \in \overline{D(A)}$, $g \in L^1(0, T; X)$, then f given by (1.2) satisfies assumption (H1).

The proof in [4] of the existence of a generalized solution of (1.1) shows that (1.1) is closely related to the equation

$$(1.3) \quad \begin{cases} \dot{u}(t) + Au(t) \ni g(t), & 0 < t \leq T, \\ u(0) = u_0, \end{cases}$$

which is (1.1) with $b \equiv 1$. It is known [1], that if u_1 and u_2 are generalized solutions of (1.3) corresponding to the data $u_{0,1}$, $u_{0,2}$ and g_1, g_2 , then the following estimate, which implies continuous dependence of solutions of (1.3), holds:

$$(1.4) \quad \|u_1(t) - u_2(t)\| \leq \|u_{0,1} - u_{0,2}\| + b * \|g_1 - g_2\|(t)$$

on $[0, T]$, with $b \equiv 1$. In this paper we consider a class of kernels satisfying (H1), containing the kernel $b \equiv 1$, for which the estimate (1.4) still holds. Such class of kernels was introduced in [2, assumptions H4, H5]. Moreover, we prove that if the kernel b belongs to this class and is in $L^1(0, \infty)$, then the generalized solution of (1.1) converges strongly to a limit u_∞ provided that g itself is bounded and converges to a limit g_∞ . If $b \notin L^1(0, \infty)$, it is well-known that u may not converge to a limit. (Take $X = \mathbb{R}^2$ with the Euclidean norm,

$$A := \begin{pmatrix} 0 & -1 \\ 1 & 0 \end{pmatrix},$$

$b \equiv 1$, $g = 0$, $u_0 \neq 0$). Work is in progress on an analogous result in the case $b \notin L^1(0, \infty)$ and $A = \omega I + B$ ($\omega > 0$, B m -accretive).

In order to state our main assumption on the kernel b we need the following

definitions. For $b \in L^1(0, T)$, let us denote by $r(b)$ the resolvent of b , i.e. the unique solution in $L^1(0, T)$ of the equation

$$(1.5) \quad r + b * r = b, \quad 0 \leq t \leq T,$$

and by $s(b)$, the unique solution in $AC[0, T]$ of the equation

$$(1.6) \quad s + b * s = 1, \quad 0 \leq t \leq T.$$

Our basic assumption on the kernel b is

$$(H2) \quad \begin{cases} \text{For every } \lambda > 0, r(\lambda b) \geq 0 \text{ a.e. on } [0, T] \\ \text{and } s(\lambda b) \geq 0 \text{ on } [0, T]. \end{cases}$$

It is known [7], [5], [2] that if $b \in L^1(0, T)$, is positive, nonincreasing and if $\log b$ is convex on $(0, T)$, then b satisfies (H2). Observe that if b is completely monotonic on $(0, \infty)$, then $\log b$ is convex [7]. Observe also that (H2) implies $b \geq 0$. In order to avoid trivialities we shall assume that b is not identically equal to 0. In connection with this class of kernels we mention the following "positivity" result:

THEOREM [2; theorem 5]. *Let b, f satisfy (H1) and (H2) on $[0, T]$ with $f = u_0 + b * g$. Let P be a closed convex cone in X . If $J_\lambda(P) \subseteq P$ for every $\lambda > 0$, $u_0 \in P$ and $g(t) \in P$ a.e. on $[0, T]$, then u the generalized solution of (1.1) satisfies $u(t) \in P$, $t \in [0, T]$.*

2. Statement of results

We first give the generalization of (1.4) to (1.1) with kernels b satisfying (H2).

THEOREM 1. *Let b, f_1, f_2 satisfy (H1) and (H2) on $[0, T]$, with $f_i = u_{0,i} + b * g_i$, $i = 1, 2$. Let u_1, u_2 be the corresponding generalized solutions of (1.1) on $[0, T]$. Then*

$$(2.1) \quad \|u_1(t) - u_2(t)\| \leq \|u_{0,1} - u_{0,2}\| + b * \|g_1 - g_2\|(t)$$

$0 \leq t \leq T$ holds.

Our main result concerns the asymptotic behaviour of solutions of (1.1) as $t \rightarrow \infty$. For results in this direction, in the scalar case, but for more general kernels b , we refer the reader to [6].

THEOREM 2. Let b, f satisfy (H1) and (H2) on $[0, T]$ for every $T > 0$, with $f = u_0 + b * g$ and $b \neq 0$. If $b \in L^1(0, \infty)$, $g \in L^\infty(\mathbf{R}^+, X)$ and $\lim_{t \rightarrow \infty} g(t) = g_\infty$ exists in X , then

$$(2.2) \quad \|u(t) - u_\infty\| \leq \frac{\int_t^\infty b(s) ds}{\int_0^\infty b(s) ds} \|u_0 - u_\infty\| + b * \|g - g_\infty\|(t)$$

holds for $t > 0$, where u is the generalized solution of (1.1) and $u_\infty = (I + \bar{b}A)^{-1}(u_0 + \bar{b}g_\infty)$ with $\bar{b} = \int_0^\infty b(s) ds$.

3. Proofs

In the proofs we shall use the fact that if $v \in L^1(0, T; X)$ satisfies

$$(3.1) \quad v(t) + b * v(t) = u_0 + b * g(t), \quad 0 \leq t \leq T$$

with $b \in L^1(0, T)$, $u_0 \in X$ and $g \in L^1(0, T; X)$ then

$$(3.2) \quad v(t) = s(b)(t)u_0 + r(b) * g(t), \quad 0 \leq t \leq T$$

holds.

PROOF OF THEOREM 1. We first establish (2.1) with A replaced by A_λ , $\lambda > 0$ and then we pass to the limit as $\lambda \downarrow 0$. For $\lambda > 0$, let $u_{i,\lambda}$ satisfy

$$(3.3) \quad u_{i,\lambda} + b * A_\lambda u_{i,\lambda} = u_{0,i} + b * g_i, \quad t \in [0, T], \quad i = 1, 2.$$

From the definition of A_λ , we have

$$(3.4) \quad u_{i,\lambda} + \lambda^{-1}b * u_{i,\lambda} = \lambda^{-1}b * J_\lambda u_{i,\lambda} + u_{0,\lambda} + b * g_i, \quad i = 1, 2.$$

Using (3.2) we get

$$(3.5) \quad u_{i,\lambda} = r(\lambda^{-1}b) * J_\lambda u_{i,\lambda} + s(\lambda^{-1}b)u_{0,i} + \lambda r(\lambda^{-1}b) * g_i, \quad i = 1, 2.$$

Next we estimate $\|u_{1,\lambda} - u_{2,\lambda}\|$. Since J is nonexpansive, $s(\lambda^{-1}b)$ and $r(\lambda^{-1}b)$ are nonnegative, we obtain:

$$(3.6) \quad \begin{aligned} \|u_{1,\lambda} - u_{2,\lambda}\| &\leq r(\lambda^{-1}b) * \|u_{1,\lambda} - u_{2,\lambda}\| + s(\lambda^{-1}b) \|u_{0,1} - u_{0,2}\| \\ &\quad + \lambda r(\lambda^{-1}b) * \|g_1 - g_2\|. \end{aligned}$$

We take the convolution of (3.6) with $\lambda^{-1}b$ (which is nonnegative) and we add (3.6). We have

$$\begin{aligned}
 & \|u_{1,\lambda} - u_{2,\lambda}\| + \lambda^{-1}b * \|u_{1,\lambda} - u_{2,\lambda}\| \\
 & \leq (r(\lambda^{-1}b) + \lambda^{-1}b * r(\lambda^{-1}b)) * \|u_{1,\lambda} - u_{2,\lambda}\| \\
 (3.7) \quad & + (s(\lambda^{-1}b) + \lambda^{-1}b * s(\lambda^{-1}b)) \|u_{0,1} - u_{0,2}\| \\
 & + \lambda(r(\lambda^{-1}b) + \lambda^{-1}b * r(\lambda^{-1}b)) * \|g_1 - g_2\|.
 \end{aligned}$$

From the definition of $r(\lambda^{-1}b)$ and $s(\lambda^{-1}b)$, we obtain $\|u_{1,\lambda} - u_{2,\lambda}\| \leq \|u_{0,1} - u_{0,2}\| + b * \|g_1 - g_2\|$. The conclusion of Theorem 1 follows by letting λ go to 0.

PROOF OF THEOREM 2. As in the proof of Theorem 1, we first prove the result with A replaced by A_λ , $\lambda > 0$ and then we pass to the limit as $\lambda \downarrow 0$.

For $\lambda > 0$, let u_λ satisfy

$$(3.8) \quad u_\lambda + b * A_\lambda u_\lambda = u_0 + b * g.$$

From the definition of A_λ and (3.2) we have:

$$(3.9) \quad u_\lambda = r(\lambda^{-1}b) * J_\lambda u_\lambda + s(\lambda^{-1}b)u_0 + \lambda r(\lambda^{-1}b) * g.$$

Since A is m -accretive, A_λ is also m -accretive and there is a unique $u_{\lambda\infty}$ satisfying

$$(3.10) \quad u_{\lambda\infty} + \bar{b}A_\lambda u_{\lambda\infty} = u_0 + \bar{b}g_\infty$$

where $\bar{b} = \int_0^\infty b(s)ds$.

Using again the fact that $b \in L^1(0, \infty)$, we can rewrite (3.10) as

$$(3.11) \quad u_{\lambda\infty} + b * A_\lambda u_{\lambda\infty} = u_0 + b * g + b * (g_\infty - g) - \xi w_\lambda$$

where

$$(3.12) \quad \xi(t) := \int_t^\infty b(s)ds$$

and

$$(3.13) \quad w_\lambda := A_\lambda u_{\lambda\infty} - g_\infty.$$

Let η satisfy

$$(3.14) \quad \eta + \lambda^{-1}b * \eta = \xi.$$

Then obviously ηw_λ satisfies

$$(3.15) \quad \eta w_\lambda + \lambda^{-1}b * \eta w_\lambda = \xi w_\lambda.$$

Using (3.11), (3.15), (3.2) and the definition of A_λ we obtain

$$(3.16) \quad \begin{aligned} u_{\lambda\infty} = & r(\lambda^{-1}b) * J_\lambda u_{\lambda\infty} + s(\lambda^{-1}b)u_0 + \lambda r(\lambda^{-1}b) * g \\ & + \lambda r(\lambda^{-1}b) * (g_\infty - g) - \eta w_\lambda. \end{aligned}$$

Subtracting (3.16) from (3.9) and using the fact that J_λ is nonexpansive, $s(\lambda^{-1}a)$, $r(\lambda^{-1}a)$ are nonnegative, we get:

$$(3.17) \quad \|u_\lambda - u_{\lambda\infty}\| \leq r(\lambda^{-1}b) * \|u_\lambda - u_{\lambda\infty}\| + \lambda r(\lambda^{-1}b) * \|g_\infty - g\| + |\eta| \|w_\lambda\|.$$

Next we take the convolution of (3.17) with $\lambda^{-1}b$ (which is nonnegative) and we add (3.17); we obtain

$$(3.18) \quad \|u_\lambda - u_{\lambda\infty}\| \leq b * \|g - g_\infty\| + (|\eta| + \lambda^{-1}b * |\eta|) \|w_\lambda\|.$$

We claim that η is nonnegative. Indeed η satisfies (3.14) with $\xi(t) = \bar{b} - \int_0^t b(s)ds$. Thus η satisfies (3.1) for every $T > 0$, with $X = \mathbf{R}$, b replaced by $\lambda^{-1}b$, u_0 replaced by \bar{b} and g replaced by $-\lambda \mathbf{1}$, where $\mathbf{1}(t) \equiv 1$. From (3.2) we get

$$(3.19) \quad \eta(t) = s(\lambda^{-1}b)(t)\bar{b} - \lambda \int_0^t r(\lambda^{-1}b)(\tau)d\tau, \quad t > 0.$$

By using the identity

$$(3.20) \quad s(\lambda^{-1}b)(t) + \int_0^t r(\lambda^{-1}b)(\tau)d\tau = 1, \quad t \geq 0$$

we have

$$(3.21) \quad \dot{\eta}(t) = -\bar{b}r(\lambda^{-1}b)(t) - \lambda r(\lambda^{-1}b)(t), \quad t \geq 0.$$

The fact that \bar{b}, λ are positive and assumption (H2) imply that η is nonincreasing. It remains to prove that $\lim_{t \rightarrow \infty} \eta(t) \geq 0$.

From (3.20) and assumption (H2), it follows that $r(\lambda^{-1}b) \in L^1(0, \infty)$. (3.14) implies

$$(3.22) \quad \eta = \xi - r(\lambda^{-1}b) * \xi.$$

Hence $\lim_{t \rightarrow \infty} \eta(t) = 0$ and $\eta(t) \geq 0$ for every $t \geq 0$. Replacing $|\eta|$ by η in (3.18) and using (3.14), we obtain:

$$(3.23) \quad \|u_\lambda - u_{\lambda\infty}\| \leq \xi \|w_\lambda\| + b * \|g - g_\infty\|.$$

Since $\bar{b} > 0$, using (3.13) we have

$$(3.24) \quad \xi(t) \|w_\lambda\| = \frac{\xi(t)}{\bar{b}} \|\bar{b}A_\lambda u_{\lambda\infty} - \bar{b}g_\infty\|.$$

Finally using (3.10), (3.12), (3.23) and (3.24) we get

$$(3.25) \quad \|u_\lambda(t) - u_{\lambda\infty}\| \leq \frac{\int_t^\infty b(s)ds}{\int_0^\infty b(s)ds} \|u_0 - u_{\lambda\infty}\| + b * \|g - g_\infty\|(t), \quad t \geq 0.$$

Observe that (3.25) is the conclusion of the theorem with A replaced by A_λ .

Since A is m -accretive we have

$$\begin{aligned} \lim_{\lambda \downarrow 0} u_{\lambda\infty} &:= \lim_{\lambda \downarrow 0} (I + \bar{b}A_\lambda)^{-1}(u_0 + \bar{b}g_\infty) \\ &= \lim_{\lambda \downarrow 0} (I + \bar{b}A)^{-1}(u_0 + \bar{b}g_\infty) =: u_\infty. \end{aligned}$$

Using assumption (H1), $\lim_{\lambda \downarrow 0} u_\lambda = u$ in $C([0, T]; X)$, thus (2.2) follows from (3.25) by letting λ go to 0.

REMARK. It is clear from the proofs of the theorems that the assumption (H1) has been used only to insure that $\lim_{\lambda \downarrow 0} u_\lambda$ exists in $C([0, T]; X)$, for every $T > 0$. Indeed Theorems 1 and 2 are valid for A replaced by A_λ , $\lambda > 0$, if the assumption (H1) is replaced by the assumption

$$(H1') \quad \begin{cases} a \in L^1(0, T), \\ u_0 \in X, \quad g \in L^1(0, T; X). \end{cases}$$

It has been proved in [2, theorem 1(ii), theorem 2(i), remark 2.3] that under the assumptions (H1') and (H2), if A is linear m -accretive with $D(A)$ dense in X that $\lim_{\lambda \downarrow 0} u_\lambda$ exists in $L^1(0, T; X)$. Therefore in the linear case, Theorems 1 and 2 are true with (H1) replaced by (H1'). Then pointwise inequalities (2.1) and (2.2) have to be replaced by a.e. inequalities.

REFERENCES

1. Ph. Bénéilan, *Equations d'évolution dans un espace de Banach quelconque et applications*, Thèse, Orsay, 1972.
2. Ph. Clément and J. A. Nohel, *Abstract linear and nonlinear Volterra equations preserving positivity*, SIAM J. Math. Anal. **10** (1979), 365-388.
3. M. G. Crandall, *An introduction to evolution governed by accretive operators*, in *Dynamical Systems*, Vol. 1, Academic Press, New York, 1976, pp. 131-165.

4. M. G. Crandall and J. A. Nohel, *An abstract functional differential equation and a related nonlinear Volterra equation*, Israel J. Math. **29** (1978), 313–328.
5. J. J. Levin, *Resolvents and bounds for linear and nonlinear Volterra equations*, Trans. Amer. Math. Soc. **228** (1977), 207–222.
6. S. O. Londen, *On a nonlinear Volterra integral equation*, J. Differential Equations **14** (1973), 106–120.
7. R. K. Miller, *On Volterra integral equations with nonnegative integrable resolvents*, J. Math. Anal. Appl. **22** (1968), 319–340.

TECHNISCHE HOGESCHOOL TE DELFT
2628 B2 DELFT, THE NETHERLANDS